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(E) Answer not known 
@5] 6l5) L Q ~ rr) UJ@Sl Q> 6l5)Q) 

(B) T = 0.18 V 
A 

(D) T=0.15 V 
A 

(C) 

yt{ T=0.16 V 
A 

T=0.25 V 
A 

2. Sabine's formula for Reverberation time 
T = Reverberation time in seconds 
V = Volume of room in m3 

A = Total absorbing power of surface in the room 
e:t.S~m "'°~Grrrr6'51 aJDIJ~~~ <§~~IJt.b 
T = "1"~G1Jrr6Ule;®LD a,!:DIJLD (GJDITLq-~GU) 

V = ~6l5>.[)~m ~GTTGtJ m3 

A= ~6l5)w~ru aLDwu11ut5lm GLDrrP>P? :2...,oSl(@)8TlD 58;~ 

1.20 @516'51®$~ 1.00 6lJ6l5>fJ 

(D) 1.40 to 1.30 
1.40 @516'51®,!t~ 1.30 6U6l5>1J" 

1.80 @516'51(!5,lli@J 1.50 GU6lPIJ 

(C) 1.50 to 1.30 
1.50 @516'51®.ct>@ 1.30 6U6lPIJ" 

(E) Answer not known 
61516l5> L Q ~ rr) llJ @51 Q)6l5)Q) 

1. Considering the acoustings of buildings, the ratio of length to width 
may be kept as 
8, l... lq-Lµi ~ m ~6'51 ~ UJ 6l5)Q)$ ffi@>µi~ Q) Q 8, rr 6iil!TLIT Q) .£@ Lb lD !D JJ)l LD ~ 8, 6U µ;~ m 
@51 £1 ~µi 6l5>~ '11" 6llT e; Q a; IT G) e;a; a GU 6iilsr G) LO 

(A) 1.80 to 1.50 ~l.20 to 1.00 



4 398 - Civil Engineering 

~0-15 years 
10 - 15 ~~@a;Glllru 

(D) 20 - ·25 years 
20 - 25 q1i~@a;Glflru 

(A) 5 - 10 years 
5 - 10 ~~@a;Glflru 

(C) 15 - 20 years 
15 - 20 ~~@a;Glflru 

(E) Answer not known 
661GIDL Q~iflw@Slru~ru 

every 
J!>cnlJlD ~L....Lu5lL6151m ~GIDLOULj GlSl~ ~G)JQQJITQ!) 
aQJ~G\L.o. 

4. . In the context of Town Planning the bye law must be revised. in 

(D) Land area/The floor area of building 
}£1 Q) L.J u IJ L.J Lj I a; L.... Lq-L~~ ~ u IJU u GT Gtl 

(E) Answer not known 
GlSl~L Q~rrlwGlSlru~ru 

3. Floor Area Ratio means 
~~IJ UIJUUGTT@.l 6lSJffi1~Lb 6fmU~ 

~ The floor area of building/Land area 
ffiLLq-L~~~ u1Juum6).J/}£1ruuu1Juy 

(B) The floor area of building x Land area 
ffiLlqL~~6m UIJLIUGTT~ X .ffilruuUIJLI~ 

(C) The floor area of building+ Land area 
ffiL....Lq-L~~~ UfJUUGITG).J + JBlruuUfJULj 
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(D) Zig-zag bond 
®!Pl ffi@) lD !Pl ffi@) L.J ~ 6'6) ~ L.J Lj 

(C) Double Flemish bond 
@IJL6'6>L o0o~GmuSl~ ~6'6)~L.J Lj 

(E) Answer not known 
@S1 6'6) L Q ~ rrJ llJ @S1 Q) 6'6) Q) 

6. Providing alternating courses· of (a) all headers and (b) all stretchers 
in the construction of brick masonry is designated as 
Ge=ffiJ8>Q) 8>L...G)LDfT6l5T~~Q) ,lliffi6)JITL...LC}-WLD @).!91$@) 6l.JITL...LC}-~LD ~®~~®~~ 
GU rrl 6'6) e=a;m1 ru Q e=ffil a;ru 6'6)(@_J ~§18, a; LL u u ® Lb ~ 6'6) ~ u LJ 

'II/" English bond · (B) Single Flemish bond 
~ftl~ruu ~6'6)~uy ~fb6'6>fD 0°o~GmuSl~ ~~~uy 

(A) hip w(ridge 
~L.J rrlL~ 

(C) valley (D) eaves 
G6)Jrol r=r-GUoo 

(E) Answer not known 
@S1 6'6) L Q ~ rr) llJ @S1 Q) 6'6) Q) 

5. The apex line of a sloping roof is called 
e= rrl Jt ~ ® 8>@) Lb s mu @.HT 6l5T 86\. 6'6> IJ uS1 ~ '!2.._if. e= 
~6'6)w$8,Uu®~W@? 
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(D) Acute angle quoins 
®W r6.l a8i rr 6lmr (Y) 6ll>ru 8i5.i JD e; GIT 

(C) Cross junction 
®W8i®a= a:.ct,juy 

(E) Answer not known 
6\S)6ll)L Q~rflllJ~Q)Q'>Q) 

8. When .two walls meet each other at angle other than right angle, 
----- is formed . 
.@rJ~@ 8i-6lJIT8iGIT 5)6l5TQ'>JI) LO.(bGJDrrGlrrg)J G616J®~@8i ae;rr~nb ~Q)61)[f~ aGlJg)J 
ae;rr~~~Q) 6J!)~~~rrGi) ~@)6lJIT.$lJI)~. 

lJI{ Squint junction (B) Obtuse angle quoins 
~ rJ ss rr li.J Gt! a= J!) ~ u Lj 6IS1 rrl Ge; rr ~ ('.Y) Q'l 61) 8,e; ,d) e; GIT 

(A) only (I) is correct (B) (I) and (II) are correct 
(I) LDC..@L.b 6rrl (I) LD,ID!J)JLD (II) ~.$lllJ6ll)6)J 6rrl 

~ (I) and (III) are correct (D) (II) and (III) are correct 
(I) LD.(b!J)JLD0 (III) ~.$lllJQ')QJ lfrrl (II) LD.(bg)JL.b (III)· ~.$lllJ6ll)6)J 6rr1 

(E) Answer not known 
6\S) Q'l L Q ~ rrJ llJ 6\S) Q) Q'l61) 

7. Choose the correct statements from the following : 
L5l 6b"r Q e; rr (&'\ 8>8> u u C..(&'\ GIT err 6lJ ,ID .[61 rol ®!!>§! 6rrl llJ rrGT &i.,ID Q'l JI)~ ~~ fr J!) G ~ ® a;e; 6tl Lb : 

An ideal damp proofing material 
u51e;s:51JI)p;~ ~~~~G)uyu Gurr®~nnL.b 

(I) should remain in its position without any movements 
"1"J!)~ 5}® .[!>8>1T6tllD .@6i>61)fflOQ) ~~WJQ')LllJ @L~~~61)GllJ @®8>8> GGlJ~®L.b 

(II) be pervious and durable 
ym1Jt46ll>L1LJ~rr8>6tlLD .©L't~@ 2...Q'>W8>8i8i &i.L'tllJ~rr8>QjL.b .@®a;e; ~GlJ~@Lb 

(III) should be capable of resisting both dead and superimposed 
loads 
.[£1Q)61)L.JU(§ LDJD!J)JLD aw,d)Gurr@~~llJ LI(§ ~.$)llJ .@rJ~6ll>Ll4LD 
"'"~rrG8irrGITw~ ~<!!JJ!)~~~c£ @<§8ic£ aGlJ~@~ 
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10. Effects of cold weather in concrete depends on, 
a; IT 6m" $) Ire.. tq.ru ®Grfl IT a; [TQ) ,[61 QS) co u5l 6irr ~ QPGTTQ.j £ ~8,6m'L6).J .(!) gll GIT sr 66)~ 8' rrrr.tl5~ GTTGTT ~ ? 

~ Freezing and thawing 
~6'6) J!)~Q> LD .(!) !!)] tb 8,66) IJ ~6\) 

(B) Rapid rate of hydration 
.£ (] 11.!D f1) ~~ GIT ~ 66l (J6).J IT6lrr GlS)$) ~ Lb 

(C) Reduced relative humidity 
@j6'6)f1)fb~ r:FIJU~LD 

(D) Greater plastic shrinkage 
~~ a; t.Sl ar rr ~ 1.q.e; ,~n{~e;a; Lb 

(E) Answer not known 
6lSl QS) L Q !b rrl ui 6lSl ruQS>ru 

(B) Bevelled bat 
~1JrriJ®66JL~ ~6m'@ 

(D) Bevelled half bat 
$1) IJT6J@j66l L ~ 66) 1J ~ ~ 6m'@ 

(A) Bat 
~6m'@ 

~ Halfbat 
~66)1J~ ~6m'@ 

(E) Answer not known 
~6'6)L Q~n-)UJ~Q>QS)Q) 

9. The length of the original brick is cut at its mid, the portion obtained 
is termed as 
~® ~e:ru Ge:rriJa;rururr6lIT~ ~!b@JQPLUJ .£m~~6irr LD~~u5lru G6).JL..LUUL@ 
Qu.[!)UUffihb U@j~ @GiJ6).JrT!!)J ~QP~e;a;uu@~JD~ 
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(E) Answer not known 
~~L G?DrrlUJ~Gi)~6\) 

(D) Trap bond work 
Q u rr,c61 t.51 Q"l 6mu LJ G6l.l ~ GI) 

(C) Brick laying 
Q .g: rtJ s; ru G 6l.l Q) so 

13. When brick work is set with a fine joint, it is usual to fill the interior 
joints with a thin liquid mortar. This process is called 
Ga=rtJa;Gi> G6l.lQ"JGl.l J£6bTJDrra; @~6mULJ Qs;rrlo&T@ ~~LDa;a;uu@L.b Gurr~. ~LLJJD 
@~liilITTL.JQ"lu ~® GLOG\.l~UJ ~IJ"6U a;ru~Gt.J~UJ Ga;rrlo&T@ }£llJ"ULJGt.J~ 6U!:9ffiffilb. ©!1th 
Q.g:wGi)(Y)Q"JJJ) 6f@rU~ 

~ Grouting (B) Layering 
MW GJ JD ,ID Lb ~Gl.l UJ rfl ffiJ 

(E) Answer not known 
6lS) ~ L Q ~ rr) UJ 6lS) Gi) ~ GI) 

· (D) Soundness test 
Jhl!J-ULJ Ga=rrth~@ 

(C) Gradation test 
6l.J~a;uurr@ Ga=rrth~oo 

12. To find workability of concrete, the test used is 
a; ,[.iJ a; rr Q"l IJ~ 6m" u M ~~ .[) ~ m a;6lilrrL,c61 UJ :1Lfh 6l.J Lb ~a= rr th~ m 

W Slump test (B) Specific gravity test 
MLDLJ 6l.ll!J-6l.l Ga=rr~~6ITT 8.UJ-Gr~L Ga=rrth~@ 

(B) hydration 
}tG1J.[.iJ.IDtb 

~leeding 
frl u51 L Lq- Ll LI IT Gi) ~ C!:Q@)fh Gi) 

(A) curing 
UfhULI@~fhGi> 

(C) segregation 
t.51 rf) ~ th Gi) 

(E) Answer not known 
~Q"JL GfhrrlUJ~G\)~GI) 

11. Separation of water on the fresh concrete is called 
LJ~ a;wa;rr~IJ~b01®~~ fh'o&T~rr fh~UJ rra; t.51 rrl6l.J~ 
~~wa;a;uu@ffil,ID~. 



398 - Civil Engineering 
[Turn over 

9 

15. Total percentage of water by weight of cement required for 
completing the chemical reaction in concrete 
e;rr6irr£rrlC...146irr @1J61TUJ~ 6616lf>~6lf>UJ (Y)l46l..le;@)e; Ge;rr~L GUIJ G~6lf>GUuuffi)Lb 
51 G to 6irr146irr 61" 6lf> Ld;@) ,!Bl e; 1J rr~ .£ rrl 6irr 6!f,6D ![> Lb 

(A) 21 % (B) 23% 

~ 38% (D) 40% 

(E) Answer not known 
6lS) 6lf) L G ~ rrl w 6lS) Q) 6lf)6\) 

14. For stones, Mohs scale is used to determine 
e;.(be;~e;® GlDrre;Giu ~roGl..lGe;rrru (Mohs scale) 61"6lf>?D jrnnrr6nll.9;a;u 
Utu6irru{b)$)JJ)~? 

W Hardness 
8i l!j- ~ ~ .§> 6irr 6lf) lD 

(B) Flakiness index 
Gtnru"5ltu .§>6irr6lf>LD ®n51uSC...ffi) (Flakiness index) 

(C) Durability 
6rml ~ Q) G.§> UJ IT 6lf) io 

(D) Toughnessindex 
e; l!j-Gm" ~?D6irr 6lf) io ®n51 uS C...G) . 

(E) Answer not known 
6lSl 6ID L G ~ rrl UJ 661 ru 6lf)6\) 

' 
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1 7. The percentage of carbon in steel is 
.@® Lb L.Sl Gi) ~ffiGTT a; rr r'ru 6iITl 6irr ~ GTT ~ 

VI( 0.01% to 1% 
0.01 8'~G'S~Lb QP~ffi 1 a=~G'S~Lb GU~IJ 

(B) 0.1 % to 0.2% 
0.1 .s=~Q)~LD (Y)~ffi 0.2 a:~Q)~Lb 6U~IJ 

(C) 1% to 3% 
1 a=~G'S~tb QP~ffi 3 a=~G'S~tb GU~IJ 

(D) 2% to 4.5% 
2 e:~Q)~LO QP~ffi 4.5 a=~Q)~LD-6U~IJ 

(E) Answer not known 
G'l5] ~ L Q ~ rfl U.J G'l5] Q>~Q) 

(D) 53.44% (C) 72.23% 

(E) Answer not known 
G'l5] ~ L Q ~ rfl lLJ G'l5] Q)el)Q) 

16. The fineness moduli of fine and coarse aggregates used in a concrete 
mix are respectively 3.05 and 6.93. If the desired fineness modules of 
combined aggregate is 5.3, find the proportion of fine aggregate to 
the combined aggregate, by weight 
!91 oo a;Gi) LD JD !;Pl Lb .s=IJ ~GIT a;Gi) .@ru JD JDl m !91 ~~fhu ®@l)"f a; Lb @~ .!D G lLJ 3. 0 5 LD JD !;Pl Lb 
6.93. ~~6irr a;Gl>~ruu5l6irr enC...G) !9J~GSGfllLJ @)@1l"fa;Lb 6f~r'rurrr'rffia;uu@Lb ~GTT~ 5.3 
sr 6llT) Q), er ~ Lffi(l; ~ ,9,$) Q) !9) ~ a; JDa;Gtfl QIT 8;Q)~6U G'l5]$) ~~~~ a;~L,aSl a; . 

. (A) 73.02% ~72.50% 
































































































































































































